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1. (@) What is Financial Economics ? Explain the concepts of financial economics which

(b)
(©)
2. ()
(b)
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are often used in real life. 7
OR

What is risk ? Discuss (1) The Risk elimination strategy and (2) Risk reduction
strategy.

Answer any two in brief : 4
(i) State the differences between economics and financial economics.

(if)  State the characteristics of Equity Shares.

(iii) Discuss in brief the role of time in financial transactions.

Answer any two in one sentence : 3
(i) State the classification of Financial market.

(i)  What is a compounding process ?

(iii) What is systematic risk ?

Explain the Loanable funds theory of rate of interest. Draw a graph to illustrate the
determination of rate of interest. 7

OR
Discuss the various factors affecting the rate of interest.
Answer any two in brief : 4
(i) What is the difference between nominal interest rate and real interest rate ?

(i)  An investor purchased a ¥ 100 par value bond carrying a 11.5% coupon
interest rate in the beginning of the year at ¥ 90. He sold this bond at the end
of the year at T 108. Calculate the annualized return on this bond.

(ili) What is Risk free interest rate ?
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(c) Answer any two in one sentence :
() What is yield rate ?
(i)  What is a spot rate ?

(ili) What is administered rate of interest ?

3. (@ What are the various principles of market valuation ?
OR

Discuss the accounting measurers of value.

(b) Answer any two in brief :
() What is a zero coupon bond ?
(i) What is a convertible bond ?
(iii) What is law of one price ?

(c) Answer any two in one sentence :
(i)  What is book value of the asset ?
(i) What is a stock concept of wealth ?

(iii) What is meant by yield to maturity ?

4. (@) Whatare Warrants ? Discuss their characteristics.
OR
What are Rights ? List out their characteristics.
(b) Answer any two in brief :
(i) Distinguish between Futures and Forwards.
(i)  Write a note on Stock Index Arbitrage.

(iii) State the factors on which the value of the option as a derivative security is
dependent in Black-Scholes valuation model.

(c) Answer any two in one sentence :
(1)  What is Put option ?
(i)  What is a Derivative ?

(i) What are Future contracts ?
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5. Answer the following :

1)

)

(3)
(4)
(5)

(6)

(7)

(8)

©9)
(10)

1)
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Risk free interest is offered on

(@) Equities (b)  Gilt edged Government Securities
(c) Mutual Funds (d)  Debentures.

Yield rate is expressed as

Coupon Interest Coupon Interest

(@ Current market Price * 100 (b) Face Value < 100
FV FV 1
© PV=asiy @ Ty

A company issued ¥ 10,00,000 face value commercial papers at a price of
¥ 9,60,000. The maturity period is 180 days. Calculate the implicit interest rate.

What is the future value (maturity value) of ¥ 10,000 deposited at the beginning of
each year upto 10 years in a 11% yielding recurring deposit ?

During inflation, investment on which of the following is least remunerative ?

(a) fixed deposits (b)  recurring deposits
(c) equity (d gold

The liquidity trap proves the ineffectiveness of

(@ Monetary policy (b)  Fiscal policy

(c) Wage policy (d)  Trade policy

When inflation rate rises, the banks

(a) sells securities in the open market

(b) buys securities

(c) both (a) & (b)

(d) None of the above

The concept of systemic risk was developed by

(@) Keynes (b)  Adam Smith

(c) Harry Markowitz (d)  William Sharpe

The market risk premium = B (R, — Ry). What do B, R, & R; indicate ?

14

Which out of the following is a high risk investment ?
(@ Investment on gold (b)  Inshares
(c) Real Estate (d)  Fixed deposits
Market volatility is caused due to
(@ Information (b)  Fiscal policy
(c) Trade policy (d)  Monetary policy
7 P.T.O.



(12) Calculate the value of a right if a company offers 6 right shares for every 10 shares
held at an offer price of ¥ 20 as against the current market price of ¥ 60.

(13) The future contracts are also one type of

(@ Swaps (b)  Putoption

(c) Call option (d)  Forward contracts
(14) The share price and the share warrant ratio has a

(a) decreasing function (b)  increasing function

(c) constant function (d)  None of the above
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